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QUESTION 1

Which of the following defines the difference between fibre channel switch fabric and fibre channel arbitrated loop
technologies?

A. Bandwidth vs.l/O

B. B. Speed vs. Distance
C. Shared vs. Dedicated
D. Coax vs. Fiber

Correct Answer: C

QUESTION 2

Which of the following technologies enables a single HBA to be used by multiple virtual machines with each one
addressed independently on a SAN?

A. NPIV
B. VSAN
C.LVM

D. VLAN

Correct Answer: A

QUESTION 3

Which of the following RAID levels uses parity?
A. RAIDO

B.RAID 1

C. RAID 0+1

D. RAID 6

Correct Answer: D

QUESTION 4
A system administrator has completed the configuration of the fiber channel switch. All switch ports have been

configured the same way, since they connect similarserver hardware withsimilar capabilities and configuration. One of
the servers is unable to see its storage. The system administrator moves the server\\'s current connection to a different
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and unused fiber channel port and the server\\'s storage is now available.

Which of the following is the MOST likely reason for the server not being able to see its storage in its original
configuration?

A. Bad MAU
B. Bad fiber cable
C. Bad SFP
D. Bad NIC

Correct Answer: C

QUESTION 5

After an overnight upgrade during which equipment was moved, a server has become very slow in the fabric and the
error rate is high. Which of the following should a technician check FIRST to find the problem?

A. HBA drivers in the server

B. Ethernet cable from switch to server
C. Port configuration on the FC switch
D. Fibre cable from switch to server

Correct Answer: D
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